




31

2432

35

27
34

21

30

22
20

A3 B1 B1
C1

26

A4

C1

B1 B1

13

33

16

A5



17

23

A6 B1

25
19 30

33

A3
A5

A5 B1

14

17

18C1

A1B1

C1
D1

18C1

37



29

28

30

36



Nr Item Qty Nr Item Qty

13 Foot Cap 2 A1 Hex Head Bolt M10 x 80 2

16 Sliding Weight Post 1 A3 Hex Head Bolt M10 x 50 4

17 Middle Upper Frame 1 A4 Hex Head Bolt M10 x 85 2

18 Pulley Bushing 4 A5 Hex Head Bolt M10 x 75 4

19 Lat Bar 1 A6 Hex Head Bolt M10 x 25 2

20 Bracket 2

21 Shiver Bar 1 B1 Flat Washer Dia10 22

22 Pulley 6

23 60 x 60 Inner Cap 3 C1 Nylon Lock Nut M10 12

24 D25 Inner Cap 2

25 Lat Bar Grip 4

26 Sliding Sleeve 2

27 Safety Stop Frame 2

28 Lower Cable 1

29 Upper Cable 1

30 Clip 6

31 Weight Base Tube 1

32 Weight Holder 2

33 Chain 2

34 Bottom Pulley Bracket 1

35 Guide Rod 2

36 Cable Chain 1

37 Olympic Spring Clip 2



l manual puede ser utilizado solamente para información
No se pueden hacer responsable el suministrador de faltas eventuales o de cambios eventuales en las specificaciones
técnicas.

The owner’s manual is only for customers’ reference.
The supplier can not guarantee for mistakes occurring due to translation or changes in technical specifications of the
product.

Le manuel d'utilisation ne sert que d'information au consommateur.
Le fournisseur ne peut être tenu responsable d'éventuelles erreurs de traduction ou d'éventuelles modifications
techniques du produit.

Deze handleiding kan enkel gebruikt worden als leiddraad.
De fabrikant kan niet verantwoordelijk gehouden worden voor eventuele fouten bij de vertaling noch voor eventuele
veranderingen in de technische specificaties.

Il manuale d’uso hdi informare il consumatore.
Il fornitore sarà ritenuto indenne da qualsiasi responsabilità derivante da eventuali errori di traduzione o modifiche
tecniche del prodotto.

O manual pode ser utilizado somente para informação.
Não se pode responsabilizar o fornecedor por eventuais falhas ou alterações nas especificações técnicas.

Das Handbuch ist nur für den Kundengebrauch bestimmt. Der Lieferant übernimmt keine Garantie für
Übersetzungsfehler und technische Änderungen.

Руководство пользователя предназначено только для справочных целей покупателя.
Поставщик не гарантирует отсутствие ошибок перевода или изменений технических характеристик
изделия.

ALL RIGHTS RESERVED/ ВСЕ ПРАВА ЗАЩИЩЕНЫ
©/TM /DKN-Technology

www.dkn-technology.com



21



22




